DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

11INPCBO8 | NEET PRACTICE QUESTIONS | “** %
(2023-24) (TEST-8) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1.A body of mass 10° kg moving with speed
2 ms™ collides with a body of mass 15 x 10° kg
inelastically and sticks to it. Then loss of kinetic
energy of the system will be

A)5KIJ B) I5KJ

C) 1.875KJ D) 10 KJ

2 ms' GausSH6 BH@ML 100 kg BlemmuleTerT
@@ QUT6T 15 x 10° kg BleMMUW]6TET LOMGMITIH
QUITEBEBL6T SLFWMMm GCOMH60 6L HSI
IFVILT L I19E  Q&TeTHRMSG  erevfley
e LIL6T @ W& 8 3LMMedley gMLIGILD GLoLiL]

A 5KJ B) 15 KJ

C) 1.875KJ D) 10 KJ

2. Two particles A and B, move with constant
velocities (V) and (V). At the initial moment their
position vectors are (t,) and (r,) respectively. The
condition for particles A and B for their collisions
is

> —> > —
A) .V =1,.Vy

> — — —
B)rIXVIZrZXVZ

> - - —
C)I'l_rz—Vl_Vz

D) Z_fi = E_i
In—r| |va—w

A HDILD B 67T @ SIS6TSH6ET (V, InHmid V)
6TedTm Epmer HenFCousSH 60 [H& ([H S 60T M 6.
QLU & 60015 5) 6L 36U mnl st Blemev
QeusLI&6T WenmGu () wHmb (f) G
6Teof16L A LDMMILD B &I 6TS 6T 60T GLD TS 8918585 T60T
b1 b & 600 60T

> >
A) .vi=1.V»

> - >
B)I'lel:rszz

O)f—L=Vi—V:
> > — —

D) =i
|T1 r2| |V2 V1|

3. If two bodies stick together after collision and
move as a single body, the collision is said to be

A) Perfectly elastic

B) Perfectly inelastic

C) Elastic

D) Inelastic
GUMeGEGL er @ueor(h  QUIMTIHETSHET
R6TMTE L I19&H&HTr(h  @CT QUITIH6TTS

BEHTHSHMTV, B GLOMTHE GLMT&H6v
6TeTM Fon ML M.

A) W LS

B) LW LA Wmdm
Q) BSLE

D) S wmm
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4. A ball of mass M falls from a height h on a floor
and its coefficient of restitution is e. The height
attained by the ball after two rebounds is

A) e¢’h B) e*h

C) h/e? D) eh?

e IS A w6l &600Ta 1D Q& Mevor L M Blem mu6iTer
Ubsl @l h 2wisSelnbs  sayuile
Nl@HDE. QUETH WOD SIETETE SHEMLHS
D& 24bG LIHS L[S 2 WD

A) e?h B) e*h

Q) h/e? D) eh?

5. A ball of mass m collides with a wall with speed
v and rebounds on the same line with the same
speed. If the mass of the wall is taken as infinite,
then the work done by the ball on the wall is

A)0 B) 1/2 my?

C) mv? D) 2my

m Blenm Q& MeooTL LI5S 6260TMI v B6USH S H 6V &r6llT
eeTMleL CLOMH) 918 CausmGH 6L 6 GosTL_LQ 60T
adlwme HGLLUSB M. seaufler Blenm wolaeiled
6T60T Q&ITEOTL_ITeV, Sraumniledt 58 LhHS Q&FUIS
Geuemev

A)0 B) 1/2 mv?

C) mv? D) 2mv

6. A mass of 10 g moving with a velocity of 100
cms™' strikes a pendulum bob of mass 10 g. The
two masses stick together. The maximum height
reached by the system now is

A)5cm B) 2.5 cm

C)0 D) 1.25 cm

100 cms™ HlenFGausiH e QFevald 10 g Hlewm
&60TMI 10g BlemM G &TE00TL. DETF 6V (G600TIQ 60T LS
CLMaIHME. @reo( BleOMEEHLD Q6TMTSH
L 195 Q& MeTH 6TMmeT. FMHCLITS @) HS 2{6emLnLIL]
6D L_HSI6TET QLICHLD 2_UIFLD

A)5cm B) 2.5 cm

o D) 1.25 cm

7. The bob A of a simple pendulum is released when
the string makes an angle of 45° with the vertical.
It hits another bob B of the same material and
same mass kept at rest on the table. If the collision
is elastic:

B

A) Both A and B rise to the same height

B) A comes to rest and B moves with the same
velocity of A

C) Both A and B come to rest at B

D) Both A and B moves with the same velocity
of A

H60fl 26TF60) ETMIET 26TF) GH600T(H A L60TSHI
QEFRIGSHS  Havguley 45  CHTeTSH eV
alhalsslULbGSEmas. @a Cuenmsuller LS
MaGHILLL 268% mleom WLMHMID CH
QIMTHEITTEVITEOT LOMGMIT(H 28TF 6V (&600T(H B-@) 60T
W&l CLTEHHME!. @H& CLoMsev L& CLOM&H6eVTs
QlwIGELEY

B
A) A LDMHMILD B &FI0 2 WLITHNG 3L H M.

B) A @lle) Blemeuenll ML HmG LMHmIlD B
2460131 A W6t HensFCaudH 5560 FHHH M.

Q) A lnmmith B @ mevor(hLh B-6L 6pli16)] BlemevemLl
ML BMSI.

D) A MM B @ueor(hd A 60T HenrFGeous Hlev
QEFLH M.

8. A bullet of mass m moving with velocity u passes
through a wooden block of mass M = nm as
shown in figure. The block is resting on a smooth
horizontal floor. After passing through the block,
velocity of the bullet becomes v. Its velocity
relative to the block is

m
° -

TP e
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A) (I+n) +n)

) (1+nr)lv—u D) (1+n12u+v

u HFGaIsESEH6 HEHMHID m Blemm G & meoorL
GHTLLIT 6@60TMI LIL &6V 2_6T6rT LI M = nm Blemm
Q&MeooTL. 1078 Sl g QFHMm.
LOJ& & L6 WIT6ETSI ) 6 (LD 6 (L LI LI TeoT
@Dl L HMHH eUlalley 2 6Temgl. DTS
GleomLemw &LBS UIng GsmlLmaller
HemFGaIsd v 98 WTMIHMS 6reflel bHS
OIS SLemLemwll QUTMISS G mLLmellesr
FHen&FGeuss LD

® -
TIIFIIITIT e
a (50 gy Yo
Q) (1+n)v—u D) (I +n)utv
n n

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C)3u

D) u/2

u HFCassH) BHMLD m  BlemU el Ll
@M QUTImeT @ule) Blemevuley 2 6Tem  3m
BlemmuwenLl QUTBHEBLET WL GmsHey
ML FH MG 6Tevtl6L GLOMHeIE &L LN60T &60TLOT60T
QUITIHET H&HIHLD Hlem&FGalsLD.

A) u/3
B) 2u
C) 3u

D) u/2

10. A billiard ball moving with a speed of 5 ms™
collides with an identical ball, originally at rest.
If the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™! B) 1 ms™!

C)5ms™! D) 2.5 ms™
5ms” GausSHev QFsDd Levedlwrl uUbg
R6TN, QBTLESSHO @ule] mlemeuuliley

2 6Tem 6 WLIHlwmer UBS e6oTmIL 60T
CUMEIRME. CLMENHGL NeT (WHL UbBS!
Blemeuwlma: BIM&H MG 6Teoflev @) T600TLMeUG! LB S
(TGS H&[HLD CaussLd.

A) 10 ms™ B) 1 ms™

C)5ms™! D) 2.5 ms™!

11. A ball strikes a horizontal floor at 45°. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 12
B) 1/4
C) 12

D) 1/242

Unhg eerm  sevpulledr 1WSs  HeLGoser
Flemguley 45 CHTeTSEHeL  CLMSHIHMG.
Gmgedler GLIME 25% @ UGS MMMV S
@WEHME aafle WS weflliL &GeoreHsams
&5 T600T S

A) 12
B) 1/4
Q) 1/2

D) 1/2~2

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms! B) 300 ms™!

C) 200 ms™! D) 400 ms™!

20 g mleom WOMID 600 ms' HeFCalsHSSIL 60T
B&HMBLD CHMLLT @aTm &Hulm earmley QsTHSH S
Q& METI(H&H G 4 kg BlemmujeTer sl enufler g
CLNaHms!. (zmng,guas@u Netr &L emLwimestgl 0.2 LS
2w 2 wWibsme Sl oL@ Geeflew
QUL CUTE CSMLLTelle Hen&GealsLh eTeiTeor?
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A) 150 ms™! B) 300 ms™!

C) 200 ms™! D) 400 ms™!

13. Ablock of mass 0.50 kg is moving with a speed of
2 ms™' on a smooth surface, it strikes another mass
of 1 kg and then they move together as a single
body. The energy loss during the Collison is

A)0.671] B)0.16J

C)0.34] D)1]J

050 kg mleOM Q&HMeooTL M &L 6O UITETSI
aIWeIWLILImeT LITLILI6L 2 ms™ etedTm Gous &S 6V
B&GHMS, G LHADTG 1 kg Blenmuler s
GLMEH @Cy QUMBETTES BHHMHMSE 6Teflev
GLOM&H6e960T GLIME gFMLIL L QuMM6L G LoLIL]

A)0.67] B)0.16J

C) 03417 D)1]J

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

u CalssHe) [BHIID SHGHET TN 6UI6)]
Blemeuuille 2 6Tem 2m  BleMUL6TET MHGMITIH
Qummerfler 18& W WBLAWDHM CLmsedlev
FHUBSRMS! 6TeofleL GO eS6T CLIMSI e MHLI(ID
QLMM6V @\LPLIEDILI &IT600TSH

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms'. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after

elastic collision will be
A) 13 ms! B) 11 ms™!

C) 9 ms™! D) 12 ms™!

e® GOUllL 2wrsHedmbhs  10ms”
CaussH eV QUL LB eoTml Tms' CausksH eV
GL6v CBHMESH B WeTETHRUIN6T &6Tdh T 60
GMaIH MG erefley LIS LG CLOMEHevenLHIl
GO WDLILD HlemFGalsiD.

A) 13 ms™ B) 11 ms™!

C) 9 ms™! D) 12 ms™!

| CHEMISTRY Q.No. 16 to 30

16. The radical ©— CH_- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors

B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons
D) 7P — orbitals & 6 unparted electrons

@-CHz‘ gern o miliy  SGTTGLLIE

&60T60 L0 UL 6M LU &I 6 G 6oTenfl6v,

A 7P Tl LTev&EeT Wmmih 7 SHeflss
6TG6V &5 L[] IT6OTE5 6T

B)6P T LMeuseT Wmmih 7 SHellsEs
6TQ6VEL_[J 60T 6T

Q6P iUl LTV&G6T WwHmID 6 SHallss
6TQ6VEL_IJIT6OTEH 6T

D) 7P Sl LMeu&G6T MM 6 SHaflss

6TGI6VE L[ IT6OTE 6T

17. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH

p O
CH,—C—
|

CH

3

CH,
C) >CH—CH2—
CH

3

D) CH,~CH-CH,~CH,
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@® &l CFInEH KCFT  LIwlemlev
2 MIILI6T SjemLnLiL] 6T6oTLIG)

A) CH,~CH,~CH,~CH -

5  CH

CH,~C—
|
CH

3

CH,
0 >CH—CH2—
CH,

D) CH,~CH-CH,—CH,

18. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most
deactivating?

A)—-COOH B) -NO,
C)-C=N D)-SO.H
SCrmCLOL 198 LSS GILD allemeoraserflev

Flev QULLT efl BLESID QOSTGHHSH6T
STLUL(heTerer. eummley 61 L& FH &IOS

QEFWLB MM GHMMEHRMS.
A) -COOH B) -NO,
Q-C=N D) -SO,H

19. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

Nereu@Ld siflin GEFFOUNLD, SiSFelemL L 6Tifl56v
allemerLIQUIT@GeTT&HW CO, W @Gy elgLomeor
&HeVLILN 60T LD MTE: &6m6V )LD MI6TeT6oT?

A) T &G & 60T B) FF & 6008 60T

Q) &G eor D) 6155 60TIT6V

20. Which one is most reactive to wards nucleophilic
addition reaction?

CHO

= Z
N=—0 ;
)

oI

CHO

©)

~o)-

CH

CHO

D)

<o)

NO

2
&H(HH&HT CFFTHmMS alleneruie L& FH &S
allemeorL|fILLD 5560T6mLDW|60)L LIS 6TSHI?

CHO
A)

RO

C-CH,

5

CHO

0

~o)-

N
T

w

>

<:> )
T
O

=z
O

N
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21. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@(

B) CH,—CH,—CH,—Cl

CH.Cl

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—(li—CI
C2H5

KOH Q& meoor(h) BrmhuUGs G0 Cumg! LNereusid
GFJOMmIGEfle  6&H  SLOWMU  S6eVeM6eUW TELD
allemers@ 2 LIS mSI?

CH.C|
NOS
B) CH,—CH,~CH,—Cl

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—C|—CI
C2H5
22.Inan SN1 reaction as chiral Centres there is

A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention

D) 100% inversion

& T6L S emLoLILI6tT LS SN, 6l6m6or UN 60T &M & LD
A) 100% & LALDTUI &6V6M6)U WIS 6V

B) SiemLDLIL] Blemev QILIMIGEmeV (retention) eTH [T

FPOHFWMTHE)  (Inversion) HSHLIOTHEVITEL
UGS L [T 4V FH6V60)6U T & 606V
2 (HUMHGH M.

C) 100% emLoLIL] Bletev G\LIMIG 6D

D) 100% 2{6mLOLIL] 6TH [FLDMIG 6V

23. Twopossiblesteiostructuresof CH,CHOHCOOH,
which are optically active are called.

A) Diastereomers B) Atrop Isomers

C) Enantiomers D) Mesomers

@efle spmmib uesoTLemLw CH,CHOH COOH
60T @@ WLILIFDMeooT D 6mIDLIL|&H6T 6TeUaUTMmI
ML &S LILIH 60T M 6oT?

A) Lwmenlg flGwimn i

B) QL GIMLl GFMIDI&H6T

C) @) 6oTeOTFNGUITLOT & 6T

D) LSGEF ML & 6T

24. Consider the following compounds
conjugation occurs in

hyper

CH, plh
I
1) CH,—C—CH—(o) 1) ph—C—ph

w ({1
CH,

A) I only B) II only

C) 111 only D)I &I

LY edTeupeusoTeummlev 2 _6Tem GFFLOLD 6TSI1?

CH, plh
| .
1) CH,—C—CH—(o) 1) ph—C—ph

110) @
CH,

Copyright @ THE ALCHEMIST CONSULTANCY



Al L @D B) Il LOL_()ILD

Q) Il L BILD D) | LnMmiLb I

25. Structure of the compound Which IUPAC is 3 —
Ethyl, 2 — hydrony 4-methyl hex -3-en-5-Inoic
acid?

OH

Zz
7 N\

COOH

COOH

Z

o
T

COOH

8

o
T

COOH

=
=

IUPAC QUIWIT B - 6eT&&H60 -2 emamiq Imgend —4—
QUEHL Qamsev  —3-rer —5-:Culmentls
I|euLD eTedTLIEN S GM& G LD emIDLIL| 6TS?

Z
o
T

=

COOH

COOH

o
T

COOH

8

OH

D) COOH

=

26. Which of the following statements not correct for
a nucleophile.

A) Nucleophile is a Lowis acid

B) Ammonia is a nucleophile

C) Nucleophiles attack low electrons density sites

D) Nucleophiles are not electron seeking

HHS&EHT  elemerll  Qum@Eetlemerl LM

FHUMITET &([HSHSI?
A) @@ suruien 9Ldlevln
B) 2{LDGLOTE0TIWIIT6R(IH & (1H &6 T 61 60Y60T LI Q) LIMT([H 6T

Q) eTQEVSL_TMeT QEFNI6] &MEUTET @)L &0
BMEGLD HeTemLoleTer elemeorl] Q\LIMTH6T

D) @606l 6TQ 6V 8 L_IJ IT6DY 60T
QFeLaUTLEmEV

1

27. Which of the following biphenyls is optically
active?

Pt

iii
&)

Q ~
i,

5
:

@
s

©w

z
o

S}

s
S

Br Br

3

—
—

Netreu@ld @@ Liememeugserfley eperfled & pmmih
LI600T L] 60 L_UI&I7?

[l

Z
Q
@

3
3

@
s

w

Z
o

S}

e

Br Br

g

—
—
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28. Which among the given molecules can exhibit
tautomerism?

) 1)

ph
ph

111)

A) III only
B)I & 1II
Ol&ll

D) I & 111

L9 edT6u (61 60T6U M Ml 6L @\ WMBI&
WrHMWLD Q& mesT(heTer CFFLOLD 6T&I?

) 1)

FLOBlen6y

ph
ph

110)

A) Il L @Lb
B) I Lo miLh Il
Q) | LoD 1

D) Il Lo mtd 1l

29. The IUPAC name of the compound

o O
oL
A) 5 — methyl — 4- Oxohexo-2en 5-al
B) 3-keto-2-metlzlhex -5 enal
C) 3-keto-2 methyl hex — 4 enal

D) 5-formyl hex -2-en-3-one

SO L GFTINGESH 6T IUPAC QLIUIIT 6T60T60T?

O O
oL
A) 5QLGSF6V 4 915GV QMG 6N 2 F60T 5 94,60
B) 3 BLGCLIT 2 QFH6L QamEe 5 F6iT y,60
Q)3 BLGLT2 QG Q6861 4 F6iT 46V

D) 5-LIMJemnLD6V Gle)q 86N 2 FF60T 3 6260T

30. The most suitable method of separation of 1 : 1
mixtne of ortho and para - nitrophenols

A) Crystallisation
B) Steam distillation
C) sublimation

D) Chronmatography

STS5CHT WMHMID LUTTT enBLETT L6V 6T
B WaummMler 1: 1 &Heveneuenl LNflH0 &M &G LD
Frflwmer Wemm?

A) LI &HLDOM&H S 6D

B) Bymellwimev SMUUEFR 6l 5560

() USMIGHLDMTSH6V

D) euevorevor L flem&s
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| BIOLOGY (BOTANY) Q.No. 31 to 45

31. The Non membrane bounded organelle is/are
A) Centrioles
B) Ribosomes
C) Both A and B

D) Nucleus

FeUa6oTITeL @ LOLILIL TS G1&F 6V Hi600TsmmI MIL1L|(856iT)
6Tem6U?

A) Q&FeTLIfIGWMeLEs 6T
B) My GLIMTGEF L& 6T
O S OO <, @Tevor(GILd
D) 2 L&
32. Glyoxysomes found in
A) Wheat endosperm
B) Castor endosperm
C) Root hairs
D) Epidermis of leaf
G 6TWITEHENOIGHFTIDGH6T SmeooTLILI(eUsl
A) CEHMHIEMLOUIN 6T &5 (H e, 600T &) &+
B) 2,L0600TE P 60T &5 (H 6, 600T ) &+
Q) Gaurrgme &e6i
D) @emeuuiledt Lim& G5 M6y
33. Quantosomes are found in
A) Mitochondria
B) Chloroplast
C) Lysosome

D) RER

&6UMeooT L TGFTLD&6T &HTevoT ILI(h6eUg)

A) e GL & mevor L_rflulrm
B) LI& Mg 60011850
C) emeuBEMEEITLD

D) RER

34. Tubulin protein occurs in
A) Thylakoids
B) Mitochondria
C) RER
D) Microtubules
19.up,L|60160T L|T&LD SmevorliLi(leug
A) 60 &V &TUL(H & 6T
B) émL0L_GL & mevor L_flwirm
C) RER

D) BI600T @600 6T
35. Centrosome is not present in
A) Cells of Lower plants

B) Cells of Higher plants
C) Cells of lower animals

D) Cells of higher animals

QFGTLGIMEEF MG 6T @ 6UMNlev &meoorLILIL MG

A) BLOBleMeVE &6l IS 6T
B) 2 WM Bl606VE &ITEU HIG 6T
Q) BLomlemnev elleubi& & 6T

D) 2_wImplemney elleumsi@ &6t
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36. Ribosomes found in mitochondria and chloroplast
is

A)70S B) 80 S

C)50S D)30S
L0l GLmasmevor L_iflurm LOMHMILD
LI &+ 15185 60011 85 61 85 61l 6V S mevor LILI(B)LD
TCUTGF D& 6T

A) 70 S B) 80 S

Q508 D)30S

37. Identify correctly matched pair
A) SER — DNA synthesis
B) RER - Lipid synthesis
C) Lysosome — Autolysis

D) Mesosome — Protein synthesis

FrilWmesT ©)60)600T6m W & 600TL_ M5
A) SER - DNA 2_HLIGH)
B) RER - 6919 (B 2_mLISH)
Q) MeVBEFTCEHMID — 9L GLMTem eV &6

D) LSGFMG&MTD - s 2 MHUSS)

38. Assembly of 60S and 40S ribosome subunits

produces
A) 100 S B)70S
C)80S D)20S

60S LoMMILD 40S 6MTCUTGFTLD SI6M600T 60861
@\ 60TH S ©_(HEUMTHGUS
A) 100 S B) 70 S

0 80S D)20S

39. Infoldings of mitochondria are known as
A) Cristae
B) Matrix
C) Cisternae

D) Thylakoids

10

el GL & mevorL_flumg &erflesr 2 eTBL S &6
A) SflenuGL
B) LomL_fl& 6
C) FervLTGeor

D) 60&H6V&TUI(H & 6T

40. Identify correctly matched pairs

I. Chromoplast — Contain pigments other than
Chlorophyll

II. Leucoplasts — Devoid of any pigments
II1. Amyloplasts — Store proteins
IV. Aleuroplasts — Store oil and fats

V. Elaioplasts — Store Carbohydrates

A) IT and 11 B) III and IV
C)IVand V D)Iand Il
sflumsll QUITBIHS W 6Terr 9) 60 600T60 UL
evor Ll e|Ld

. &CrmGLmLieTmeL. — LIFem&wLd S5 sl

Nomlmidlser
1. w8 miilemmenul. — BlMLA & 6T 9 mHmenel
. 1 CeumLilemmeivl. — L g CailLliL

IV. 2169 W BT ImLN6mT ey L. — 6T600T G 60T Ui LDMHMILD
Q&ML GFLAlLIL

V. @emeu@WimLilemmenul. — TreUmenamL_CrL e

Gl
A) Il and Il B) Ill and IV
O IVandV D) land Il

41. Identify correct statement with reference to
Plasmodesmata

A) Lignified cemented between cells
B) Locomotory structure
C) Membrane connecting nucleus with RER

D) Connection between adjacent cells

Copyright @ THE ALCHEMIST CONSULTANCY



Nermenu@umaLevCuLlLT  &M&Es  arflwmer

Fa.HEm M 856007 LM 85

A QFEEREE  @eLulevmeor 698 60fl 60T
QUITBe6T

B) @ L LIQUWITEFF & & Me0r 3j6mLnllL]
C) 2_L_ &6l 60T RER 6 L_60T ) 60)600T8> (& LD F6116)]

D) 355 [HB5 2_6IT6IT G\ & 6085 61h & ) 60) L G LI ULI 60T
@) 60V 600T LIL|

42. Which of the following is mismatched?
A) Cell inclusions — Glycogen granules
B) Microbodies — Peroxisomes
C) Centriole — Membrane bounded organelle

D) Ribosome — Non membrane bounded organelle

G LD & 600 L6 M Ml 6L 6TSl SHaUMTSHLI
QUTMBSSLILIL (h6TeTsI?
A) QF 2 LQUTBLSEET  — SlemneTCameger

S HETEH 6T
B) I1600T 2_L_6UMIGET — QLITT&HerICE MO &H6IT

Q) QFeT_flIGWImey — Feuelleorme) @O L
15160000 I LIL| & 61T

D) empGUITGEFMID - FeualleoTmey @GLOLILILITS
51 600T I M LIL | &5 61T

43. Identify correct sequence of bacterial cell envelop
A) Cell membrane — glycocalyx — cell wall
B) Glycocalyx — cell wall — cell membrane
C) Glycocalyx — cell membrane — cell wall

D) Cell wall — glycocalyx — cell membrane

umslerfluw QT 2_emmuilesr Frilwmeor

aurlen&eml 8ev0r LM 5.
A) QFF6Ie - HETHECHTCHMGH  —
QFevEaUYT

B) P e en&:CHTCHN &GV —
QF6LF6IA

QFFIT -

11

Q) BemeT&ECHETCHN &G -
QFVEIT

QF6L Fele| -

D) QFev&all - HmarsHECHTCHMN &GN -

QFeLF6IG
44. Middle lamella is composed of
A) Glucose
B) Calcium pectate
C) Glycoprotein
D) Peptidoglycan
QF 6L 6T @)L UI(H &G THEOTITEL 2,60TSI?
A) & ©BH&ECH e
B) SIMeVA LI QLISCL L
Q) B et6rms:CasITL G L1 60T

D) QUL CL TS 6m6ITas 60T

45. Match the following
Column-I Column- II

a. Endoplasmic reticulum - (1) Stack of cisternae

b. Spherosome - (2) Store oils or fats

c. Dictyosome (3) Synthesis and storage of

lipids
d. Peroxisome (4) Photorespiration

e. Elaioplasts (5) Detoxification of drugs

a b C d e
A) 5 3 1 4 2
B) 3 4 2 1 5
C) 3 1 2 4 5
D) 2 4 1 2 5
Frflwmer @emeoorenl C5IHOSM:
Column-I Column- I

a. 6Te0oT QL ITLY 6T ITE euemev - (1) BleruLmGeor
3 (H &GS H6T

b. eVLICTTB&F TG 6IT - (2) 6T600T Gl6T0T U, @ & ML LIL]
Gl
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. 19519 GWIMGEF TG - (3) ALILIB 2 MUSSH
LHmID C&FLAILILY

d. QUITEHENIGFMTIDGET - (4) eperflareumaib

e. @6meuBWITLIeTMTeVL 6T - (5) LO[HIH S & 6rfl6or
& & &S

a b C d e
A 5 3 1 4 2
B) 3 4 2 1 5
QO 3 1 2 4 5
D) 2 4 1 2 5

BIOLOGY (ZOOLOGY) Q.No. 46 to 60 |

46. A large proportion of oxygen remains unused
in the human blood even after its uptake by the
body tissues. This oxygen

A) Acts as a reserve during muscular exercise
B) Raises the pCO, of blood to 75 mm/Hg

C) Is enough to keep oxyhaemoglobin saturation
at 96%

D) Helps in releasing more O, to the epithelial
tissues.

2 Ly Hassarme 2 plepslitlL Um@lb,
2&5FGler QUELUGS Wwalls QUsssS e
LWweTUMSSLILILITIO6 2_6T6emSl. @)hS 2,8 F) 2607
34,6018

A sl LumHSuller CUNME @@ @LILLI
QUITIBETTS QFWOLOT M

B) @755 55 60t 75

2 WISSIH DS

pCOZ—g mm/Hg 3,5

Q) 9&HManCLTGCermetr  Q&nleyl Leney
96% @6V MEUSH (HE CLIMSHILDTETS

D) eTNGeIWel HHEHHEHHG AHSG 0,8
QeueflWL 2 e BmE.

47. If the thoracic wall but not lungs is punctured
A) The lungs get inflated
B) The man dies as the lungs get collapsed
C) The breathing rate decreases

D) The breathing rate increases

12

Hlenguirev S|6V6VITLOGY DT & FeUIT
SlemeTwil UL LTev
A) BT uiTeL efdh&InemnL_H M
B) mlemufrev FenFH6UT TV LD 60T 85 60T
@mb 36l (hleu e,

Q) &rauns efsd GmmB M

D) &reun& efsh AT &FERMmS.

48. Ciliated epithelium in trachea helps in
A) Sucking inspired air in
B) Perceiving sense of smell
C) Pushing expired air out
D) Pushing mucus out

&S Gmulley 2 6ter @miullemlp eTLlNG6e Wil
QB 2 HHME!

A) 2 L&GaImEs Smmenm 2 MlehsealsmnH &S
B) 6UMTEF6M60T 2_600T[J60)6U 2_600T J6USHM (&

C) QeueflgFseaungs QeueflGWw

S6TEHISHD &

&HTMHenM
D) G&MemLoLl QLIMBemeT (Fefleml) QeuerflGul
SHETEHEISDS
49. Which of the following statements is not true?

A) The partial pressure of oxygen in deoxygenated
blood is 40 mm Hg

B) The partial pressure of oxygen in oxygenated
blood is 95 mm Hg

C) The partial pressure of oxygen in the alveolar
air is 104 mm Hg

D) The partial pressure of carbon dioxide in
deoxygenated blood is 95 mm Hg

L9 edTeu (Heu6oTel M MIET 6T&! &F WM Fo MM D606V

A) p&e0gaTHm @ IS5S55H 60 21,8 6nle360fl60r
LGS <& &L 40 mm Hg

B) &6l R3s016iTeT @IHSHSH 60 24,8 6n0l 360160
UGH WSS 95 mm Hg
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2 6iTer
LGS

Q) &THm 51 600T600T60) M 85 611 60
STMHMleniemn LWl EYR: o Betaoilaos
WSS 104 mm Hg

D) p&erflgermm QUssHSHe0 STILET 6oL
ALEHOEFLQET LUGH S(W0&SHLD 95 mm Hg

50. Pick the correct statement.

A) The contraction of internal intercostal muscles
lifts up the ribs and sternum

B) The RBCs transports oxygen only

C) The thoracic cavity is anatomically an air tight
chamber

D) Healthy man can inspire approximately 500 ml
of air per minute.

Frflumer gamenms CEHIHO S M &0

A 2dar  afleomr  ealDLIenL & 560 & G erfl6oT
FHSHHID allevT eTalDL|&HemeTU]D LDMHMILD
TIEUsIDmUWLLLD 2 WTSSIHMmS!

B) FleuliL] @SS HTESET & erilegene
L GG &5 S5 60Tmeor

Q) 2 aTamemLILedT LG  WTILemnm - 6TerLigl
STHMILLS GUIVTS MM G

D) &4,y m&: &\ WLDmeoT LD 601 85 60T IT6V 62(H
BUOLEHMHG &umy 500 wleved edLLiF
SITHenM 2 6Terl (W& (LDIGULD

51. Choose the correct combination of labelling from
the given options.

A)I- Nose, II- Bronchus, III- Larynx, IV-
Diaphragm, V- Trachea, VI- Lung

B) I- Nose, II- Larynx, III- Bronchus, IV- Lung,
V- Diaphragm, VI- Trachea

C) I- Mouth, II- Trachea, III- Larynx, IV-Lung,
V- Diaphragm, Vi- Bronchus.

D) I- Mouth, II- Diaphragm, III- Trachea, IV-
Bronchi, V-Larynx, VI- Lung
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FPOGETHESLILL el  GQLIMTIHESLOTeor
eTevoT 600l 1 M & flwl UMSRIGET  @&GmssLIuUL L
allemLemwls CHITHA S H & 56 LD

A) I-BTE, -0 & &+ & G 60 6T 8> G&LP6VEET,
l1-@& TeL6UEmATT, IV-2_5 76N & meorin,
V-eln&F &8 GLp6v, VI-Bengufrev

B) I-BM&, ll-&Jeveuemem, l-eLn& &5 en6rs
GLPL&6T, IV-mengufTey, V-2 grelgmerin,
VI-eN & &+ 8 (& LD 6V

O l-eumul, - F&HESP, -G TeveuemerT,
IV-Blen T ufrev, V-2_50el & meoriD,
Vi-eLN & &85 60161 (L0 SHET.

D) I-eurmul, ll-2 syellsmeorid, |l-eN& &8 @& L6V,
IV-enE& SR m6Td: GV V- GTeV6l6marT,
VI-memgulyev.

52. Conducting part of respiratory system extends
from

A) Trachea to bronchi
B) External nostrils to trachea
C) External nostrils to terminal bronchiole

D) External nostrils to alveolar ducts

GreUTE LDGDOTL6VE T 60T HLGSID LGS

A) ENEFSHEHGLLN NGV CLNE &85 60)6ME (&LD6D
Qe

B) QeuefILiLim BTE (LNH6V ELNE&&GHLO6) QUem T

Q) QeuerflliLim BTH WS eNEF&HER 66T
T51600T(&LP6V (DL aIeML UL @)L LD eU6emT

D) Qeuerflliym BTEWI®HS!
DBI600T600T6M D) [BITETHRIGET 66T

Sl

53. In humans, which among these is not a step in
respiration?

A) The exchange of air between the atmosphere
and lungs

B) The exchange of O, and CO, between the lungs

and the blood
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C) Transport of gases by blood

D) Uptake of CO, by the cells for various activities.

G LD & 600T L6 (D Ml 6T 613l Lneofl & & 6rfleL
BOLOUMID &eumF  Blespelledr LG Blenev
@) 6VEmEV?

A) auerflnesor_euld LoMMID HIenTUTT6L 5 EH 8 G
@enL_Guiwmet euru] LfliommmLd

B) Bl T UIT6L& Eh & GLD QIS55H DG
@enL_Guiwimeot O, HmiLd CO, LflinmmmLd

Q) QUs S5 5 60T eLO6ULD QU T & & 61l 60T
&L G SIH6V

D) Q&F6L&6T, L6V 2 LMAsFwedlwe
QFWEEMETEF G&FWW CO, 8 dbhs5as
Q@ &5 IT6IT &) 60T M 60T

54. Which structure of human is similar to spiracle
of cockroach

A) Nostril
B) Bronchiole
C) Lung

D) Alveolus

neoflgeofledT  6TH&S SlemLoLIL]
LL&F & ul et 6N 60 LI 8 &) 6115 60V 61T
& meoor LI S 6oTm &1?

&[T LILImeoT
R58|

A) BT

B) CLO& &+ 55 6M6IT [51600T (S5 L0 6V 6T

Q) memyuirev

D) &ITMHMI [FI600T600T60) ) & 6T

55. During expiration

A) There is relaxation of diaphragm and intercostal
muscles

B) Thereiscontractionofdiaphragmandintercostal
muscles

C) Diaphragm contract but internal intercostal
muscles relax

D) The Diaphragm relax but internal intercostal
muscles contsant
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Qeuefl&aaImesFer GLITSI

A 2_grellgmerid mmid efleur erewlbLenL_&
SHMNEFGHET STIEF 360G 60TMmeor

B) 2 ailgmerTid nmmIh elleum eTewbLillemL &
&0 &6 & ([H (G 5 60T M 60T

Q) 2 TGTaTd & (HHIGRETMET  60TIT6Y,

261  allewm  aDLES  HOFSHET
6T IE & U6t LG 60T M 60T

D) 2 g6 &meorD S6TTEF T W6m L) 60T 60T
QLEOTTEY,  eNleum TN S F&6T

& (TH I (& G 60T M 60T

56. Normal breathing rate in human is
A) 100 per minute
B) 12 per minute
C) 38-40 per minute

D) 60 per minute

LD 601856011 60T @) W6V LIT60T Sraume efg LD
A) @G BIEL &S DS 100
B) @ HIALSH DS 12
0 e® Bl S5HHE 38-40
D) @@ B &S DS 60

57. Blue copper protein complex contained in some
mollacas in their plasma for oxygen transport is

A) Haemocyanin
B) Chlorocruorin
C) Bilirubin

D) Haemoglobin

31,85 23607 HLHISHNEHET5 Flev
Qv 69 &erfledr LNemmeruinmedley & mevor LiL(BILD
Beumlm STT UIHs Sl LenlollL]

A) @nf@LOME WL 6ot] 60T

B) & Qe G T@&emifledr

Q) 968 LI 60T

D) enfGLom& GermmLledr
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58. The largest amount of CO, is transported by the
blood as

A) CO, in the plasma
B) H,CO, in the plasma
C) Bicarbonate ions in plasma

D) Bicarbonate ions in the erythrocytes

QUE555 60 2H& si6eTey CO, HLSSLILG6LS!
A) @055 LNeTmeunmelsy CO, eurmss
B) @r& 5L LNeTmeuinmelley H,CO, 6umss

Q) @ussLll ermeummellsy
3| W6ol1 &6

OLISTTLIG6TL

D) @U55& FlalllLiens&Haete) 6mLsTILICerL
S| W 6Tl &HeTmss

59. The amount of air inspired or expired in each
normal breath by man is called as

A) Tidal volume
B) Total lung capacity
C) Inspiratory capacity

D) Residual volume

L0 601 & 6071 60T @) UIGVLITET 626G T 86U TEF & H) 60T

GuUmsILD o GTGEMTMILD  &STHM 3LV
QeueflGWMID STHNIET Q&TETETETEY, ......... 6T6oT
MP&HELILGS M

A) LLNEFFHEHTMHMI 676
B) QDTS S HBlemguigev Q& meTemerey &) meor
Q) 2 L &eaUMEFSFH medT H)meor

D) 6T@H & W Q& ITETETETEY
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60. Assertion : If there is no air in trachea, it will
collapse.

Reason : Trachea is without cartilaginous rings.

A) Both assertion and reason are true and reason is
the correct explanation of assertion

B) Both assertion and reason are true but reason is
not the correct explanation of assertion

C) Assertion is true but reason is false

D) Both assertion and reason are false

Fn MM CLNF &5 @GNV &HITMHMI B)6V6DI6V 6TEOTMITEV,
318 FegH el ELD

GITIJ600T LD: LN & &+ 5 (&L 6016V GHSOSNIIDL
6UED 6T LLITBI G 6T &5 MeuoT LI LI () 61 6L 60I6V

A) Fadhml  IDMHMID &TFeord @ revor(d  &Fifl
MHMID  &TFeOTID FoMMIM&meor & iflulmeot
aflen&&LINMEG LD

B) Sn MM LDMMIID &SITevorld @ueorGld  &ifl
SLEOTITEV SITI60TID FoMMIM&Meor & iflwlmeor
eTE &L 3606V

Q) Gamm &Fifl; &ITJeTD SHeUMmTeTS

D) &aml  LOMHMID
SH6UMITE0T60)6)

&Myeoorld @ revor(hLD
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